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Pautes de correcci6 Tecnologia Industrial

Seérie 2

Primera part
Exercici 1
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Segona part

OPCIO A

Exercici 3
a) B=Ul1=621W ; B, =;—'5=24,84W

b) Ib:2|—5:108mA . Ry =2 =2,130 kQ

b

c) E; =Bt =4,347 kWh =1565MJ ; E :7E—é =57,96 Wh =208,7 kJ
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Exercici 4

a) L=ly +Lg +4/L2 +13 =2243 mm ; t - L 18695
Viall

051,

S o
b) d=—mange 100 '3 4100 =28,57%

Srectangle 2 1a

d
€) m= (Srectangle ~ Striangle )& P =Srectangle (1 _m)e p=

d
=1-—)I, I,e p=15,60 k
( 100)2 s€p g

OPCIO B

Exercici 3
.d o
a) ¢=arcsin— =12,84
2L

b) m=2Lp=432 kg

¢) YM(©)=0 O F2Lcop= mgLsip 0 =F %mn 483,0 N

d R/=mg=4238N ; Ky =F =483,0N

Exercici 4

a) P =0 Paigua Caigua At :%-1000-4,18-30 =27,59 kW

P 275910°

= 3 5 =0,8558 =85,58%
Ocomb. Pc 0,52107°-6210

b) n=

c)t =V =13,64 min =818,2s ; m =tQcomp. =425,59
q
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Seérie 5

Primera part
Exercici 1
Ql b Q2d Q3 b Q4 c Q5 b

Exercici 2
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Segona part

OPCIO A

Exercici 3

P, P,
@) Pmotor = Pelec.Nmot = 2,805 KW T yot0r = (T):::r = nsr:r‘t)tzf =18,72 Nm
T 60

Peoriida _ Psort
B) Psortida = PmotorNred =1739 kW Tsortida = sortida - sortida =626,7 Nm

ortida Nsort %

C) Puissipada = Pelec. ~Psortida =1961W
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Exercici 4
a) m=sLp=228010°2,57,810% =44,46 kg

b) Fpcosa-Fgcosp=0 DD Fan =391,0 N
Fa sincx+FBsinB—mg:OE Fs =319,3N

h h
+

c) L=— -
sina sinb

=6,146 m

OPCIO B

Exercici 3

P
@) Nalternador =W=0,8871 0 88,71%
motor

B) Nmotor = Emotor = 1 =0,3499 O 34,99%
Ecombustible  Ce Pc

C) C=Cg Ppec t =4,557 kg

Exercici 4

- v paigua Ce AT

a) P =1045 kw

b) R=—=50,62 Q
P



